PSC NO: 87 GAS NEW YORK STATE ELECTRIC & GAS CORPORATION EFFECTIVE DATE: 04/01/2014

STATEMENT TYPE: NGV STATEMENT NO: 208

STATEMENT OF NATURAL GAS VEHICLE RATE

April 01, 2014

Owego Area

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate		Market Based		Applicable Natural Gas Vehicle Rate	
	per	per Gal.	per	per Gal.	per	per Gal.
	Therm	Equiv.	Therm	Equiv.	Therm	Equiv.
Category 1A	\$0.9979	\$1.138	\$3.3022	\$3.765	\$2.8035	\$3.197
Category 1B	\$0.9979	\$1.138	\$3.1696	\$3.614	\$2.3737	\$2.707
Category 1C	\$0.9979	\$1.138	\$3.2396	\$3.694	\$2.9127	\$3.321
Category 2A	\$1.0171	\$1.160	\$3.3022	\$3.765	\$2.8227	\$3.219
Category 2B	\$1.0171	\$1.160	\$3.1696	\$3.614	\$2.3929	\$2.729
Category 2C	\$1.0171	\$1.160	\$3.2396	\$3.694	\$2.9319	\$3.343
WITH COMPRI	ESSION:					
Category 3A	\$0.8088	\$0.922	\$3.3022	\$3.765	\$2.6453	\$3.016
Category 3B	\$0.8088	\$0.922	\$3.1696	\$3.614	\$2.3311	\$2.658
Category 3C	\$0.8088	\$0.922	\$3.2396	\$3.694	\$3.0533	\$3.482
WITHOUT COM	MPRESSION:					
Category 3A	\$0.7896	\$0.900	\$3.3022	\$3.765	\$2.6261	\$2.994
Category 3B	\$0.7896	\$0.900	\$3.1696	\$3.614	\$2.3119	\$2.636
Category 3C	\$0.7896	\$0.900	\$3.2396	\$3.694	\$3.0341	\$3.460
Category 4	\$1.0171	\$1.160	\$3.3022	\$3.765	\$2.8227	\$3.219

STATEMENT OF NATURAL GAS VEHICLE RATE

April 01, 2014

<u>Goshen</u>

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate per per Gal.		Market Based Ceiling Rate per per Gal.		Applicable Natural Gas Vehicle Rate per per Gal.	
	Therm	Equiv.	Therm	Equiv.	Therm	Equiv.
Category 1A Category 1B Category 1C	\$1.0033 \$1.0033 \$1.0033	\$1.144 \$1.144 \$1.144	\$3.2811 \$3.1696 \$3.2507	\$3.741 \$3.614 \$3.707	\$2.7856 \$2.3737 \$2.9227	\$3.176 \$2.707 \$3.333
Category 2A Category 2B Category 2C	\$1.0225 \$1.0225 \$1.0225	\$1.166 \$1.166 \$1.166	\$3.2811 \$3.1696 \$3.2507	\$3.741 \$3.614 \$3.707	\$2.8048 \$2.3929 \$2.9419	\$3.198 \$2.729 \$3.354
WITH COMPRESSION:						
Category 3A Category 3B Category 3C	\$0.8142 \$0.8142 \$0.8142	\$0.928 \$0.928 \$0.928	\$3.2811 \$3.1696 \$3.2507	\$3.741 \$3.614 \$3.707	\$2.6005 \$2.3311 \$2.9257	\$2.965 \$2.658 \$3.336
WITHOUT COI	MPRESSION:					
Category 3A Category 3B Category 3C	\$0.7950 \$0.7950 \$0.7950	\$0.906 \$0.906 \$0.906	\$3.2811 \$3.1696 \$3.2507	\$3.741 \$3.614 \$3.707	\$2.5813 \$2.3119 \$2.9065	\$2.943 \$2.636 \$3.314
Category 4	\$1.0225	\$1.166	\$3.2811	\$3.741	\$2.8048	\$3.198

STATEMENT OF NATURAL GAS VEHICLE RATE

April 01, 2014

Lockport Area

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate		Market Based		Applicable Natural Gas Vehicle Rate	
	per	per Gal.	per	per Gal.	per	per Gal.
	Therm	Equiv.	Therm	Equiv.	Therm	Equiv.
Category 1A	\$1.0237	\$1.167	\$3.2487	\$3.704	\$2.7580	\$3.145
Category 1B	\$1.0237	\$1.167	\$3.2487	\$3.704	\$2.7580	\$2.707
Category 1C	\$1.0237	\$1.167	\$3.2685	\$3.727	\$2.9387	\$3.351
Category 2A	\$1.0429	\$1.189	\$3.2487	\$3.704	\$2.7772	\$3.167
Category 2B	\$1.0429	\$1.189	\$3.1696	\$3.614	\$2.3929	\$2.729
Category 2C	\$1.0429	\$1.189	\$3.2685	\$3.727	\$2.9579	\$3.373
WITH COMPR	ESSION:					
Category 3A	\$0.8344	\$0.951	\$3.2487	\$3.704	\$2.4744	\$2.821
Category 3B	\$0.8344	\$0.951	\$3.1696	\$3.614	\$2.3311	\$2.658
Category 3C	\$0.8344	\$0.951	\$3.2685	\$3.727	\$3.0638	\$3.494
WITHOUT COI	MPRESSION:					
Category 3A	\$0.8152	\$0.930	\$3.2487	\$3.704	\$2.4552	\$2.800
Category 3B	\$0.8152	\$0.930	\$3.1696	\$3.614	\$2.3119	\$2.636
Category 3C	\$0.8152	\$0.930	\$3.2685	\$3.727	\$3.0446	\$3.472
Category 4	\$1.0429	\$1.189	\$3.2487	\$3.704	\$2.7772	\$3.167

STATEMENT OF NATURAL GAS VEHICLE RATE

April 01, 2014

Elmira Area

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate		Market Based		Applicable Natural Gas Vehicle Rate	
			Ceiling Rate			
	per Therm	per Gal. Equiv.	per Therm	per Gal. Equiv.	per Therm	per Gal. Equiv.
	menn	Equiv.	menn	Equiv.	menn	Equiv.
Category 1A	\$0.9962	\$1.136	\$3.3022	\$3.765	\$2.8035	\$3.197
Category 1B	\$0.9962	\$1.136	\$3.1696	\$3.614	\$2.3737	\$2.707
Category 1C	\$0.9962	\$1.136	\$3.2396	\$3.694	\$2.9127	\$3.321
ealegely re	\$0.000 <u>2</u>	<i>Q</i> 00	<i>Q0.2000</i>	Q 0.001	φ2.0127	<i>\\</i> 0.021
Category 2A	\$1.0154	\$1.158	\$3.3022	\$3.765	\$2.8227	\$3.219
Category 2B	\$1.0154	\$1.158	\$3.1696	\$3.614	\$2.3929	\$2.729
Category 2C	\$1.0154	\$1.158	\$3.2396	\$3.694	\$2.9319	\$3.343
0,						
WITH COMPR	ESSION:					
Category 3A	\$0.8072	\$0.920	\$3.3022	\$3.765	\$2.6453	\$3.016
Category 3B	\$0.8072	\$0.920	\$3.1696	\$3.614	\$2.3311	\$2.658
Category 3C	\$0.8072	\$0.920	\$3.2396	\$3.694	\$3.0533	\$3.482
ealegely ee	\$0.001 <u></u>	<i>Q</i>	<i>Q</i> 0000000000000	Q	<i>Q</i>	<i>Q</i> 010-
WITHOUT CO	MPRESSION:					
	A A A A A A A A A A	• • • • •	• • • • • •	• • • • •		
Category 3A	\$0.7880	\$0.898	\$3.3022	\$3.765	\$2.6261	\$2.994
Category 3B	\$0.7880	\$0.898	\$3.1696	\$3.614	\$2.3119	\$2.636
Category 3C	\$0.7880	\$0.898	\$3.2396	\$3.694	\$3.0341	\$3.460
Category 4	\$1.0154	\$1.158	\$3.3022	\$3.765	\$2.8227	\$3.219
0,		-	-	·	-	•

STATEMENT OF NATURAL GAS VEHICLE RATE

April 01, 2014

Combined Area

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate		Market Based		Applicable Natural Gas Vehicle Rate	
	per	per Gal.	per	per Gal.	per	per Gal.
	Therm	Equiv.	Therm	Equiv.	Therm	Equiv.
Category 1A	\$0.9962	\$1.136	\$3.2925	\$3.754	\$2.7953	\$3.187
Category 1B	\$0.9962	\$1.136	\$3.1696	\$3.614	\$2.3737	\$2.707
Category 1C	\$0.9962	\$1.136	\$3.2448	\$3.700	\$2.9173	\$3.326
Category 2A	\$1.0154	\$1.158	\$3.2925	\$3.754	\$2.8145	\$3.209
Category 2B	\$1.0154	\$1.158	\$3.1696	\$3.614	\$2.3929	\$2.729
Category 2C	\$1.0154	\$1.158	\$3.2448	\$3.700	\$2.9365	\$3.348
WITH COMPR	ESSION:					
Category 3A	\$0.8072	\$0.920	\$3.2925	\$3.754	\$2.6325	\$3.002
Category 3B	\$0.8072	\$0.920	\$3.1696	\$3.614	\$2.4161	\$2.755
Category 3C	\$0.8072	\$0.920	\$3.2448	\$3.700	\$2.9824	\$3.401
WITHOUT COMPRESSION:						
Category 3A	\$0.7880	\$0.898	\$3.2925	\$3.754	\$2.6133	\$2.980
Category 3B	\$0.7880	\$0.898	\$3.1696	\$3.614	\$2.3969	\$2.733
Category 3C	\$0.7880	\$0.898	\$3.2448	\$3.700	\$2.9632	\$3.379
Category 4	\$1.0154	\$1.158	\$3.2925	\$3.754	\$2.8145	\$3.209

STATEMENT OF NATURAL GAS VEHICLE RATE

April 01, 2014

Binghamton Area

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate		Market Based		Applicable Natural Gas Vehicle Rate	
	per	per Gal.	per	per Gal.	per	per Gal.
	Therm	Equiv.	Therm	Equiv.	Therm	Equiv.
Category 1A	\$0.9979	\$1.138	\$3.3022	\$3.765	\$2.8035	\$3.197
Category 1B	\$0.9979	\$1.138	\$3.1696	\$3.614	\$2.3737	\$2.707
Category 1C	\$0.9979	\$1.138	\$3.2396	\$3.694	\$2.9127	\$3.321
Category 2A	\$1.0171	\$1.160	\$3.3022	\$3.765	\$2.8227	\$3.219
Category 2B	\$1.0171	\$1.160	\$3.1696	\$3.614	\$2.3929	\$2.729
Category 2C	\$1.0171	\$1.160	\$3.2396	\$3.694	\$2.9319	\$3.343
WITH COMPRESSION:						
Category 3A	\$0.8088	\$0.922	\$3.3022	\$3.765	\$2.6412	\$3.012
Category 3B	\$0.8088	\$0.922	\$3.1696	\$3.614	\$2.3311	\$2.658
Category 3C	\$0.8088	\$0.922	\$3.2396	\$3.694	\$2.8847	\$3.289
WITHOUT COI	MPRESSION:					
Category 3A	\$0.7896	\$0.900	\$3.3022	\$3.765	\$2.6220	\$2.990
Category 3B	\$0.7896	\$0.900	\$3.1696	\$3.614	\$2.3119	\$2.636
Category 3C	\$0.7896	\$0.900	\$3.2396	\$3.694	\$2.8655	\$3.267
Category 4	\$1.0171	\$1.160	\$3.3022	\$3.765	\$2.8227	\$3.219

STATEMENT OF NATURAL GAS VEHICLE RATE

April 01, 2014

Champlain Area

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate		Market Based		Applicable Natural Gas Vehicle Rate	
	per per Gal.		per Therm	per Gal. Equiv.	per Therm	per Gal. Equiv.
	Therm	Equiv.	menn	Equiv.	menn	Equiv.
Category 1A	\$1.0034	\$1.144	\$3.2811	\$3.741	\$2.7856	\$3.176
Category 1B	\$1.0034	\$1.144	\$3.1696	\$3.614	\$2.3737	\$2.707
Category 1C	\$1.0034	\$1.144	\$3.2507	\$3.707	\$2.9227	\$3.333
Category 2A	\$1.0226	\$1.166	\$3.2811	\$3.741	\$2.8048	\$3.198
Category 2B	\$1.0226	\$1.166	\$3.1696	\$3.614	\$2.3929	\$2.729
Category 2C	\$1.0226	\$1.166	\$3.2507	\$3.707	\$2.9419	\$3.354
WITH COMPR	ESSION:					
Category 3A	\$0.8143	\$0.928	\$3.2811	\$3.741	\$2.6685	\$3.043
Category 3B	\$0.8143	\$0.928	\$3.1696	\$3.614	\$2.3311	\$2.658
Category 3C	\$0.8143	\$0.928	\$3.2507	\$3.707	\$2.8705	\$3.273
WITHOUT COI	MPRESSION:					
Category 3A	\$0.7951	\$0.907	\$3.2811	\$3.741	\$2.6493	\$3.021
Category 3B	\$0.7951	\$0.907	\$3.1696	\$3.614	\$2.3119	\$2.636
Category 3C	\$0.7951	\$0.907	\$3.2507	\$3.707	\$2.8513	\$3.251
Category 4	\$1.0226	\$1.166	\$3.2811	\$3.741	\$2.8048	\$3.198